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Supplementary table 2 – Average values, variances and 90% confidence interval 

(90% CI) of the prevalence peak time tpeak according to the different scenarios 

and network types. Only runs with AR>10% are taken into account. 

 

Scenarios  Parameters  Network Number of runs 
<tpeak > 

days 
Variance 90% CI 

DYN 2000 14.7 25 [8,23] 

HET 2000 14.3 24 [8,23] 

Very short latency 

Very short 

infectiousness 

REP 

1/ σ = 1 days 

1/ ν  = 2 days 

β = 3.10-4 s-1 

HOM 2000 14.3 14 [9,21] 

DYN 2000 28.1 84 [16,45] 

HET 2000 27.6 78 [16,43] 

Short latency 

Short infectiousness 

REP  

1/ σ = 2 days 

1/ ν = 4 days 

β = 15.10-5 s-1 

HOM 2000 27.7 47 [18,41] 

DYN 2000 19.9 53 [11,33] 

HET 2000 19.2 46 [11,32] 

Very short latency 

Very short 

infectiousness 

RAND-SH 

1/ σ = 1 days 

1/ ν  = 2 days 

β = 3.10-4 s-1 

HOM 2000 17.8 25 [11,27] 

DYN 2000 39.6 168 [23,63] 

HET 2000 39. 148 [23,61] 

Short latency 

Short infectiousness 

RAND-SH 

1/ σ = 2 days 

1/ ν = 4 days 

β = 15.10-5 s-1 

HOM 2000 36.7 108 [23,56] 

DYN 2000 15.9 31 [9,27] 

HET 2000 15.1 27 [9,25] 

Very short latency 

Very short 

infectiousness 

CONSTR-SH 

1/ σ = 1 days 

1/ ν  = 2 days 

β = 3.10-4 s-1 

HOM 2000 15.6 18 [10,24] 

DYN 2000 30.4 97 [17,47] 

HET 2000 30.4 101 [17,49] 

Short latency 

Short infectiousness 

CONSTR-SH 

1/ σ = 2 days 

1/ ν = 4 days 

β = 15.10-5 s-1 

HOM 2000 31.5 71 [20,46] 

 

 

 


